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E+n x 10 E+3  x 1000
(ke/ ) (ko/ )

1 3.2E+0 32 32
2 8.4E+2 840.0 14E+2 1400 980.0
3 1.0E-1 0.1 0.1
4 10E+0 10 20E+0 20 30
5 1.3E+0 13 13
6
7 24E+3| 1.6E+0 2,440.5 1.2E+2 120.0 2,560.5
8 36E+3] 10E-1 35800 30E+1 29.8 36098
9
10
11 99E+1 99.4 32E+3 32042 33036
12 19E+4| 1.7E+1 18,528.7 11E+4 11,317.2 29,8459
13
14 8.8E+3| 8.4E+2 9,611.3 3.0E-1] 9.7E+3 9,677.2 19,288.5
15 1.0E+0 10 1.0E+2 100.0 101.0
16 1.2E+0 12 3.0E-1 0.3 15
17 1.5E+1 14.8 1.1E+0 11 15.9
18 54E+1 54.1 15E+1| 9.9E+1 114.0 168.1
19
20
21 20E-1 02 02
22 1.9E+4 19,371.0 53E+1 53.0 19,424.0
23 45E+3| 6.0E-1 4,536.3 11E+2 1132 4,649.5
24 17E+4 16,9312 5 6E+3 56478 22579.0
25 5.1E+1 51.3 8.4E+0 8.4 59.7
26 13E+1 132 |  70E-1] 39E+1 39.8 53.0
27 16E+3 16092 | 20E-1| 32E+3 32091 48183
28 23E+3| L17E+2 25047 64E+4| 644306 66,9353
29
30 15E+1] 2.0E-1 15.2 15.2
31
32
33 12E+4| 23E+2 11,763.4 1.2E+3 1,200.0 12,963.4
34 10E+4 10,100.0 4264 42,0000 52,100.0
35 12E+4 11,8302 12E+4] 123482 24,1784
36 17E+1 17.1 19E+2 190.0 2071
37
38 35E+4| 3.1E+3 37,920.0 85E+3 84500 46,370.0
39
40 60E+2| 69E+L 666.0 666.0
41
42
43 20E-1 02 02
44 7.1E+0 7.1 7.1
45 79+2| 10E+3 1,790.0 37E+ 37.0 1827.0
46
47

15E+5| 5.4E+3 154,302.7 1.6E+1| 1.6E+5 162,433.1 316,735.8
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